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e omAEE 4357 57,054 13623 o| 46,853 of 4748 -9,448]- 39,391| 13,865 6,653 o| -17,751|  440| 10,509
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wORIZH(ERE) 143.5 156.6 153.3 152.2 163.7 169.0 122.2 139.9|x 149.3 109.0 142.0 171.0 140.2 151.2 119.3
% @ A b (%) -2.8 -7.1 -5.3 0.0 0.0 -8.6 -1.9 -0.2|- -0.1 -1.9 2.1 5.6 -0.6 -8.1 -7.2
B R RIERA LE(%) -0.9 -1.8 1.5 -0.8 3.0 4.2 -2.2 1.1]- -5.7 -3.6 -9.9 6.6 -2.4 -2.4 -10.6
FRE AR B BF ) 133.6 141.9 140.6 141.6 150.0 145.0 117.8 136.4|x 137.0 101.0 131.4 151.0 136.7 144.6 111.2
% @E At (%) -2.5 -9.5 -5.7 -0.7 1.0 -8.2 -1.9 1.1]- 1.2 -1.6 1.5 8.8 -0.5 -8.1 -7.7
B R8BI RIA (%) -1.1 -3.9 0.7 -2.3 3.7 2.8 -1.7 2.5(- -4.7 -2.4 -9.9 7.7 -2.1 -1.2 -11.5
P E Sh|R (B R 9.9 14.7 12.7 10.6 13.7 24.0 4.4 3.5|x 12.3 8.0 10.6 20.0 3.5 6.6 8.1
% @ A b (%) -6.7 23.6 -2.3 9.3 -9.9 -11.2 -4.4 -34.0(- -12.7 -5.9 11.6 -13.7 -5.5 -7.1 0.0
B R8BI RA (%) 1.0 22.5 9.4 23.3 -3.6 13.1 -17.0 -35.1{- -15.7 -15.8 -9.4 -0.5 -12.5 -24.2 3.9
T £ # (8) 18.5 18.1 18.5 19.4 20.5 19.6 18.1 18.8|x 18.4 16.3 17.6 20.7 18.4 18.7 17.4
a B A ZE(8) -0.3 -2.4 -1.0 0.1 -0.3 -1.1 -0.3 0.5(- -0.4 0.2 0.0 2.1 0.0 -1.4 -0.9
BIERAZE(H) -0.2 -0.9 0.0 0.0 1.6 -0.4 0.0 -0.1|- -0.2 0.0 -1.4 1.4 -0.7 -1.0 -0.9
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X #HEE & (A)| 209,105 7,354 46,321 729 3,426 13,168 24,711 3,918|x 5,683| 11,149 3,272 18,337| 52,445 1,337| 15,940
R K|ET B (%) -0.5 0.0 -2.5 3.1 0.6 0.4 1.9 2.0(- -0.4 1.2 -1.7 1.0 -1.3 0.2 -0.6
& A 5|RIERA (%) -0.1 -12.7 0.4 -49.2 -1.5 -0.3 0.0 0.3(- 26.2 7.2 -6.9 1.4 -0.7 2.9 -0.9
B F H|N° - b E (%) 22.0 0.7 5.2 6.3 7.8 5.6 52.5 10.1(x 5.8 72.0 33.4 19.7 18.8 8.8 35.7
A 4 = (%) 1.35 0.88 0.98 3.11 1.85 0.99 1.34 2.03|x 0.33 3.69 2.40 1.03 0.78 1.95 3.11
Bt 4 = (%) 1.69 0.84 1.48 0.00 1.32 0.55 1.77 0.08|x 0.79 2.52 4.09 0.02 2.09 1.65 3.72
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